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SSC CHSL Practice Set?

PART-1
GENERAL INTELLIGENCE

Directions (1-2) : In each of-the
questions given below there is an ad-
dress which has been reproduced
against (1), (2) (3) and (4). Of them, three
have some mistakes or the other while
one is EXACTLY the same as the given
below. You are to choose the one as your
answer which is EXACTLY the same
reproduction of the given address.

1. Suraj Badjatya

2/32, Juhu, Ram Ville

Mumbai-440034

(1) Suraj Badyatya
2/32, Juhu, Ram Ville
Mumbai-440043

(2] Surej Badyatya
2/32, Juhu, Ram Ville
Mumbai- 440034

(3] Suraj Badjatya
2/32, Juhu, Ram Ville
Mumbai- 440034

(4) Suraj Badjalya
2/32, Juhu, Ram Villa
Mumbai-440034

2. Kajol Kiran -

3/13. Chowranghee Lane
Kolkata-220132
(1) Kajol Kiran
3/31, Chowrenghee Lane
Kolkata-220132
(2] Kajol Kiran
3/13. Chowranghee Lane
Kolkata-220132
{3) Kajol Kiran
3/31, Chowranghee Lane
Kolkata-220132
[4) Kajal Kiran
3/31, Chowranghee Lane
Kolkata-220133
Directions (3 - 9) : In each of the
following questions select the related

letter / word,/ number/ figure from the
given alternatives,

3, ABZY : CDXW : : EFVU : ?
(11 JRQ {2} KLPO
13) MNST (4) GHTS

4. Receptionist : Office : : Hostess : ?

(1) Crew 12) Host
(3) Airport (4) Aircraft
8. NUMBER : UNBMRE : : GHOST: ?
(IJ)HOGST (2 HOGTS
B HGOTS (4| HGSOT
6. 6:35::7:7
(1)48 (2)42
(3)34 (4)13
7. Dog : Rabies : : Mosquito : ?
(1) Flague (2) Death
(3} Malaria  (4) Sting
B.4:24::17:7
(1)37 (2) 47
(3157 467
9. Clock : Time : : Thermometer :7?
(1) Heat
[2) Radiation
(3) Energy
(4) Temperature

Directions (10 - 18) : In each of the
following questions select the one which
is different from the other three re-

sponses.
10. (1) BGNI (2) CHOJ
(3} DIPL (4) EJQL

11. (1)20- 36  (2)30- 46

(350-56 (460 - 66

12. (1) September (2) April
(3) November (4)January

13. (1) MEO 2) Q50
(3)1VTX (4) DBF

14. (1)(48.,8) (2)(21.7)
(3)(24.3) 4)(56.7)

15. (I)Carbon  (2) Graphite
(3) Diamond  (4) Gold

16. (1)49 (2) 140
(31112 (4)97

Directions (17-18) : The name of a
town and a date is given followed by
four alternatives (1), (2). {3) and (4). Of
these alternatives, only one matches
the town and the date given below while
others have some mistakes or the oth-
er. You are to choose the alternative as
your answer which is EXACTLY the
same as the given one,

17. Ghaziabad
13th November, 1931
(1) Ghaziabad
13th Novembar, 1931
(2) Ghaziabad

13nd November, 1931

(3) Ghaziabad
13th November, 1931
(4) Ghajiabad
13th November, 1931
18, St. Petersberg
13 February, 1917
(1) St. Petersharg
13 February, 1971
(2) St. Petersherg
13 February, 1917
(3] 5t. Petersberg
13th Fabruary, 1917
(4) St. Petersberg
13 February, 1719
18. Which one set of letters when
sequentially placed at the gaps in
the given letter series shall com-
plete it ?
a_b_ba_b__ba
(llbbaab @bbabb
(3laabab Maabba
Directions (20 - 22) : A series is
given with one term missing. Choose
the correct alternative from the given
ones that will complete the series.
20. 15, 17, 20, 22, 27,29, 2. 2

(1)31, 38 2) 36, 38

(3) 36, 43 (4} 38, 45
21. 6, 2, 15, 27, 51, 99

(1310 29

(311 412
22. BDF. KMO, TVX, ?

(1) CEG (2) UVWw

(31 XYZ (4) ACE

Directions (23-24) : In the following
questions, lelters are given in the first
line and numbers are given in the sec-
ond line. Numbers are the codes for let-
ters and letters are the codes for num-
bers. Choose the correct code as your
answer from amongst the suggested
answers (1), (2), (3) and (4).

BIA|JIN|IM|D|E|S|T[O
0l4j8|1i5(2)|9|3|6|7

22.MODEST
(1)578936
2573936
Bl57892¢6
4572936

24. JAMESD
(1) 435932
(3) 847832

(2) 845932
(4) 846932



Directions : From the given aller-
native words, select the waord which
can be formed using the letters of the
given word.

25. EXAMINATION

(1) EXAMINE (2] NAME

13 MINOR 14) GAME

Mohini wenl Lo movies nine days
‘ago. She goes (o the movies only
on Thursday. What day of the
week is today 7 .

(1) Saturday (2} Thursday

(3 Sunday  {4) Tuesday

The age of a father is twice that
of his som’s at present age. Afler
8 years the sum of their ages will
be 85. How old are they now?

(1} 40, 20 (2] 46, 23
(3} GO, 30 [4) a0, 25
28. Ramesh drives his car 4 km to

easl, then takes left turn and
drives 6 km. He again turns to
his left hand side and travels 4
km. How many km is Ramesh
away from his stariing place ?
(1) 6 km {2} 10 km '
{3) 4 km {4) 14 km
Ravi's father has a son Rohit who
has an aunl Laxmi who has a
hushand Rao whose lather-in-
law is Mohan. What is the rela-
tion of Mohan to Ravi ?
(1] Nephew (2) Grandfather
13} Son {4) Unele
IMyou are 9th person in a queuae
starting from one end and 11th
from another end, what is the
number of persons in the queue?
(1] 20 {2) 19
(3 21 [4) 18
31. If BEAUTIFUL is written as
CDOGHJEMN, how LEAF can
he written in that code 7

(1) NDOK [2) KNND
(3 ODNK [4) DHON
32, IfTA =1, CAT = 24, then POLICE
= 7
(1 57 {2) 60
(3] 62 4) 59

Five students are sitting in a row.
T is on the right of "2, "M’ is on
the lefl of £ but is on the right of
L. T is on the left of 'Q°. Who is
sitting first from the left 7
mz 2 Q
3T 4 L
Directions (34-35) : Some numbers
are given in different Rows/Columns.
Whikch one of the given Rows/Columns
are connected / related with each other
in some way?

34. | Rows Columns

T jminwv|v

1 36 [ 18] 54 |27 | 81

2 T 14|21 (28|35

3 24| 12|36 [ 18|54

4 18|27 (36|45

5 28| 14|42 |21 |63
(1) Rows 2, 3 and 4
[Z)Rows 1. 3and 5
[2IRows 1, 2 and 5
[4) Rows 2, 3and 5
35. | Rows | Columns

Ljnmjmjimw|v

1 5 |25 |125625/780

2 18 (36| 9 [20]16

3 3|9 |27 |81 |120

4 44 | 8B | 22 |46 |42

5 14(28| 7 (16812

(1) Rows 2, 3 and 5
[Z)Rows 1, 3and 5
(3 Rows 2, 4 and 5
[4) Rows 1, 4 and 5

36. Select the alternative which is
related to the given set.
Given seL is @ (12, 18, 24)
i1(6. 12. 30)

(2)(5. 15. 10)
(3(10. 16. 18)
(4) (8, 12. 16)

37. In a solid cube which is made up
of 27 small cubes, two opposite
sides are painted red, two paint-
ed vellow and the other two with
white. How many cubes have two
colours ?

(1 8 2 12
(3 16 4 24
Directlons (38 —40) : In cach of
the following questions one /two state-
ments are given followed by two con-
clusions (I} and {l1). You have to con-
sider the two statements to be true
even if they seem Lo be at variance from
commonly known facts. You have o
declde which of the given conclusions,
if any, follow from the gliven state-
ments,

38. Statements :

Some books are Magazines.
Some Magazines are Novels.
Conclusions :

() Some books are Novels.

(il Some Novels are Magazines.
(1) Cnldy (1) follows

(2) Only (I1) follows

13) Either (1) or (1)) follows

[4) Meither (1) nor (11) follows

Statements :

“Bats do not lay eges and there-

fore, bats are not birds.”

Conclusions :

) All birds lay eggs.

(11} Only birds lay eggs.

(1) Only (1) follows

(2) Only (1) follows

(3] Both (I) and (I1) follow

(4) Meither (1) nor (1) follows

40. Statements :

(1) Al students like excursions.

(2] Some students like Laborato-
ry experiments.

Conclusions :

N Students who like Laboratory
experiments also like excur-
sions,

(I Some students do not like
Laboratory experiments but
likes excursion.

(1) Only (i) follows

(2] Only [11) follows

(3] Conclusions (I} and (1) follc «

(4) MNeither (1} nor (11} follows

IM '+ stands for '+, "%’ starfds "+",

' gtands for 'x', and "+ stands

for °=°, then which of the follow-

ing statements is correct 7

() 36x6+7+2-6=20

2)36 + 6+ 3x5-3=45

[H3G+6-3x5+3=24

)36 -6+3x5+3=T4

41.

42. f 4 =4 = 17, 6 =6 = 37 and
2-2=5thenwhatis5-5=7
{127 12} 26
(3) 19 (420

Directions (43-44) : In the table
given below, the first two digits form
the advertising agency numbers and
the last four digits advertiser numbers,
MNow, answer the following questions.
213150 | 182732 | 192595 | 183592
184323 | 142059 (212732 | 148303
202591 (207801 | 186791 | 197000
142956 | 215132 (203982 | 213080
223610 | 183218 (142808 | 206119
2002594 | 192600 | 192950 | 223582
43. Which of the following age-ncy

has least number of advertisers ?
1) 14 2120
(3) 19 421

44. Which two agencies have common
number of advertisers ?




(1) 14 and 19
[2) 14 and 18
[3) 21 and 20
{4 20 and 22
Directions : Select the missing
number from the given responses.

45 9 4 =}

‘12 168 15
15 20 25
180 - 80 7
(1125 2)75
(3120 (4125

Directions : A word Is represent-
ed by only one set of numbers as giv-
en in any one of the alternatives. The
sets of numbers given In the alterna-
Lives are represented by two classes
of alphabets as in two matrices given
below. The columns and rows of Ma-
trix | are numbered from O to 4 and
that of Matrix Il are numbered from 5
to 9. A letter rom these matrices can
be represented first by {ts row and
next by its columa, ¢.g., T can be
represented by 00, 13, 30 ete., and R
can be represented by 56, 79, 87 ete.
.dentify the sel for the word DEAL.

8. MATRIX -1

B EREE
o[T|CIK|K]|G
1|F|B|R|T]O
2IM|D|1]0]|Q
3/T|AJUlA|N
a|Y |K|P|R|Y]
MATRIX - IT

s|6|7[8|9
5|C[R|I]|G|E
G|PIM|S|L|T
7|E|Y|N|B|R
glalU|RIO|A
9|0 |T|A|Q|K
(1) 11, 23, 76, 68

(2] 21, 75, 97, 68
{3) 21, 32, 86, 89
(4) 43, 75, 89, 69

47. Among the four answer figures,
which figure can be formed from
the cut-pieces given below in the
question figure 7

Q
0

(1 2 (3 (4)
Directions : Which answer figure
will complete the question figure 7
48. Question Figure

7 )
A

Answer Figures

Vid4dNY

49. If a mirror is placed on the line
MM, then which of the answer
figures Is the right Image of the
given question figure 7
Buestion Figure

N

=]

ﬂ. o

M
Answer Figures
[] 0] O
Al | v alll'elv
(1) 2 (3} 4)

80. Find out which of the diagrams
as given in the alternatives cor-

rectly represents the relationship
stated in the question.

Motmising, Forests, Esrth

Q@)|o=

(1) (2) 3

© o

(4)

PART-II
"ENGLISH LANGUAGE

DMrections (51-85) : You have a
briefl passage with five questions lol-
lowing the passage. Read the passage
carefully and choose the best answer
to each question out of the four alter-
nathves.

In the technological sysiems of
tomorrow-fast, Mluld and self-regulat-
ing-machines will deal with the flow of
physical materials; men with the flow
of information and Insight. Machines
will increasingly perform tasks. Ma-
chines and men both, Instead of be-
ing concentrated in gigantic factories
and factory ecities, will be scattered
across the globe, linked together by
amazingly sensitive, near-instanta-
neous communications. Human work
will move out of the factory and mass
office Into the community and the
home. Machines will be synchronized,
as some already are, to the billionth
of a second; men will be de-synchro-
nized. The factory whistle will vanish.
Even the clock, “the key machine of
the modern industrial age” as Lewlis
Mumiford called it a generation ago,
will lose some of It power over hu-
mans, as distinct from purely techno-
logical affairs. Simultaneously, the or-
ganisation needed to control technol-
ogy will shift from bureaucracy to Ad-
hocracy, from permanence to tran-
slence, and from a concern with the
present to a focus on the future.

In such a world. the most valued
attributes of the industrial age become
handicaps. The technology of tomor-
row requires not millions of lightly let-
tered men, ready to work in unison at
endlessly repetitive jobs, it requires
not men who take orders in unblink-
ing fashion, aware that the price of
bread ls mechanical submission to au-
thority. but men who can make criti-
cal judgments, who can weave thelr
way through novel environments, who
are quick to spot new relationships in
the rapldly changing reality. It requires
men who, in C.P. Snow's compelling
terms, “have the luture in their
bones™.

51. The technological system of to-
morrow will be marked by
(1) dehumantzation
(2) perfection
{3 automation

[4) unpredictability






